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P outcomes. All portions of each question must be answered sequentially.]
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7 I. | @ | Rakiband his three friends share a room at DIU Male Hostel and each have their 15] '
g ewn laptop/PC. They want 1o create a network that allows them 1o gonnect and CO1 \

communicate. To achieye this, they conngct E@hﬂg@p_pﬂ’C in:a cirenlar chain,
creating @ network where each  device only has two neighbors for
communication and acls 858 repeafer to regenerdte and pass on the signal. In

| RO e e e e L el
this séfap, the signal travels in & single direction around the chain, providing

e

¢Ificitnt and Teliable data transmission. Hence, apply your knowiedge to analyze
thé performance of that topolegy in terms of the type of connectivily,
advantages, disadvantages, and applications, Besides, what will happey if one
connection or link gets disconnected? Usc the figure iF appropriate.

I]‘ Explain vour basic understanding abeut plysical, Togical and port addresses, L] J
| Identity the layers that provide the below 1mntI'imTi‘:q_'m i_n.O’i}'l' et { (2] |:
| 1) Flow Lon_i;_ol i) ero;ggsiectmn _1:!} Pc‘:ﬁi{[ilrca:-mg iv) Encryption I

| Calculate the total delay (latericy) for a frame of size 10 million bits that is being 31
| sent on'a link with 20 routers each Baving a queling hme of 4 us and a\ C03
its. The length of the link is 4000 Km. The speed of hight
vidih of 10 Mbps. Select the
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processing time of 2
inside the link is 3 x10% m/s. The link has a bands
| component of the total delay that is dominanl. Seleet 1l1i |
1 wewant to send data at 200 Kbps, | 2]

,_—
e

one that is negligible.

We have a charmel with 8 KHz bandwidth,
estimate the minimim SNRE 4 and SNR.

Explain the operating procedure of Delta Modulation. : ]I 12] o
We know that line coding is the pmces:.-{:_rcunvming digital data to digital 13] -

! signals. Suppose, we have the following data (BC) to send. Evaludte this |

| digital data into the following line coding schemes.

| i. Manchester

| ii. Differential Manchester

1| i, Bipolar AMI
Evaluate the constellation diagram for the following ¢ases based on the typo.of | 3
modulation (ASK, FSK, PSK, or QAMY). The numbers in parentheses define the | COA
values of T and Q respectively,

[ L Two points at (3, 0) and (-3, 0%

[ ii. Four points at (2, 2), (-2, 2), (-2, -2),and (2, -2), | \

[ 111, Two points at (0, 2) and (0, -2).

| frequency is 10 MHz, Calculate the baud rate and the bandwidth,

| We need to send data 3 bits at & tMe at a bit rae of 3 Ml';pg, The carrier ] 121 \
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